“ LCK” “ 3 “ SET”
“ SET”
1 Sn 0-28
2 Pol 0-3 PV Pol=1
Sn= 13
PV -1999~999
3 sdo PV Sdo=0.0
Sn= 13 9
PV -1999~999
4 SuP PV SuP=100.0
Sn= 13 9
5 Cob 0-1 Cob=0 Cob=1
PID 0 PID 1
6 PSL 0~4 2 PID 3 4
PSL=0
7 God PID 0~1000%o PID 0 God=0
8 Gou PID 0~1000%o PID Gou=1000
9 GoA 0~1000%o PID PV GoA=0
10 dr 0~100 dF=29
11 Ao 0~15 2 Ao=0
PID
12 sL1 ALL 0-~16 0 SL1=0
2
4
6
13 sL2 AL2 0~16 7 SL2=1
8 9 10
11 12
14 SL3 AL3 0-16 13 SL3=0
14
15 16
15 SL4 AL4 0~16 0 1 10 SL4=1
15 16
16 AHL ALL
17 AH2 AL2 A =1 M
0~9999 |
18 AH3 AL3 =0.1
19 AH4 AL4
20 Ytl ALL 0~9999 Yt1=100
21 Yt2 AL2 0~9999 | T=100 Yt1=0
SV AL SHN=0
22 SHn 0-4
SHn=1
23 PIN 1~9999
24 Adr 0~9999 Rs485
-1999~999 PV 1do=0
25 Ido
PV 9 2< Aos 15 12 13
PV IuP =1000  IuP =100.0 2
-1999~999
26 1uP < Ao< 15 12 13
PV 9
1uP 0.1
Fun=1 Fun=2
27 Fun 0-18
Fun=3 Fun=4 Fun=0
-1999~999 ADS ;
*] ADO Fun=10
9 0 -0.2 0.2
-1999~999 ADO
*2 ADS
Fun=10 9 Sn 3 200




200 200.4 -0.4
SAL=0 SAL=1
*3 SAL Fun=10 0~1 SAL=0
SAL=1
1 Sn
Sn 0 1 2 3 4 5 6 7
Pt100 Pt100 K
Cu50 S B T W5/W2
(-100~200) (-200~600) (0~400)
1 45 1 45 1 45 2 4 2 4 2 2 4 2 4
Sn 8 9 10 11 12 13 14 15
R K E
N J 0~50mV 0~250mV 0~20mA
(0~1700) (0~1300) (0~1000)
2 4 2 4 2 4 2 4 2 4 2 2 4 3 4
Sn 16 17 18 19 20 21 22
4~20mA 0~10mA 0~10V 0~5v 1~5v 0~800 0~4000
3 4 3 4 6 6 6 1 4 1 45
264515 BABR LRI TS
R MAZEEN : PL100
T E=F BELRARTSAT -
6 (00
JP5 5 ([0 PR RTS 152 AA
l(e]e) 4 BR L 1E FD
o CPU 5 100 3100 O6 1] mzs=
1 + |80 :|00 00 | ons
<190 : |00 | =Xs] Tk
3 |00 e
2 88 2 100
' 1100
2 Ao
Ao 1 2 3 4 5 6
PID PID
PID 0~20mA 4~20mA 0~10mA 0~20mA 4~20mA
Ao 8 9 10 11 12 13
PID 0~20mA + 0~10mA + 4~20mA + 4~20mA +
0~10mA PID PID PID PID
0~20mA 4~20mA 4~20mA 0~10mA
Ao 14 15
0~20mA + PID 0~20mA +
0~20mA PID 0~20mA
3
Sn 0 1 2 3 4 5 6
ADO 0 0 0 0 0 0 0
ADS 200 600 100 400 1600 1800 300
Sn 7 8 9 10 11 12
ADO 0 0 0 0 0 0
ADS 2000 1600 1300 800 1100 1000




